Solving Quadratic Equations (A)

Name: Date:

Solve each equation for x.

—8x>*+74x—18=0 10x? +65x+90 =0
—15x* +96x —36 =0 8x? +60x+100=0
—10x* 4+ 5x+ 15 =0 —8x* +4x+60=0
—16x* —64x — 60 =0 4> +2x—30=0
20x%> 4+ 60x — 135 =0 16x> +44x+28 =0
—10x> —65x — 75 =10 —12x* —45x+75=0
16x* +84x+80=0 —3x%> +45x — 168 =0
—16x> +60x+ 100 =10 —12x*+3 =0

—9x> —-39x—12=0 9x* —12x+3 =0

9x* —33x+24=0 —20x*> +35x+ 180 =0
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Solving Quadratic Equations (A) Answers

Name:

10.

—8x*+74x—-18=0
—2(4x—1)(x—9)=0

_1
x=12,9

—15x* +96x — 36 = 0
—3(5x—2)(x—6)=0

_2
Xx=£,6

—10x*+5x+15=0
—5(x+1)(2x—3)=0
x=-1,11

—16x* — 64x — 60 = 0
—4(2x+5)(2x+3) =0
x=-21-11

20x* + 60x — 135 =10
5(2x+9)(2x—3) =0
x=—43,11

—10x* —65x—75=0
_5(2x+3)(x+5)=0
x=-13,-5

16x* +84x+80 =0
4(x+4)(4x+5)=0
x=—4,-13

—16x% 4+ 60x + 100 = 0
—4(4x+5)(x—5)=0
X= —1%,5

—9x2 -39x—12=0
—3(x+4)3x+1)=0
1

X = —4,—§

9x* —33x+24=0
33x—-8)(x—1)=0
X:Z%?I

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

10x* + 65x +90 =0
5(x+2)(2x+9)=0
X= -2, —4%

8x* + 60x+100=0
4(x+5)(2x+5)=0
x = —5, —2%

—8x* +4x+60=0
—4(x—3)(2x+5) =0
x=3,-21

4> +2x—30=0
2(2x—5)(x+3)=0
X:Z%,—S

16x* +44x+ 28 =10
Mx+1)(4x+7) = 0
x=-1,-13

—12x* —45x+75=0
_3(4x—5)(x+5) =0
x=13 -5

—3x% +45x — 168 = 0
—3(x—8)(x—7)=0
x=28,7

—12x*+3 =0
—3(2x+1)(2x—1)=0

9x* —12x+3 =0
33x—1)(x—1)=0

X:§,1

—20x* 4+ 35x+ 180 =0
—5(x—4)(4x+9)=0
x=4,-21

[uny
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Solving Quadratic Equations (B)

Name: Date:

Solve each equation for x.

—8x24+8x—-2=0 12x* +12x — 45 =10
6x* —45x+84 =10 —20x* —115x - 75=0
25x* +90x +45=0 20x* +25x—30=0
2x> —8x—64=0 16x*> —44x+28 =0
15x2 —78x+72 =0 8x? —4x—40=0
16x> —44x—80 =0 —12x*> +63x+ 147 =0
—8x? +46x + 144 =0 10x> —5x — 105 =0
15x> — 126x—81 =10 —10x* +78x — 108 = 0
—9x*> +69x+24=0 8x*+8x—126=0
2x* —2x—40=0 —3x>—-33x—-84=0
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Solving Quadratic Equations (B) Answers

Name:

10.

—8x*+8—-2=0

Date:

Solve each equation for x.

11.

—2(2x—1)(2x—1) = —2(2x—1)2 =0

—1
X=73

6x* —45x +84 =0
32x—7)(x—4)=0
x=314

25x> +90x+45=0
5(5x+3)(x+3)=0

_ 3
x=-3-3

2x> —8x—64=0
2x+4)(x—8)=0
x=-4.8

15x% —78x+72 =0
3(x—4)(5x—6) =0
x=41%

16x> —44x—80 =0
4(4x +5)(x—4) = 0
x=—134

—8x% +46x+ 144 =0
“2(4x + 9)(x — 8) = 0
x=-238

15x* — 126x — 81 =0
3(5x+3)(x—9) =0

- _3
x=-5,9

—9x% + 69x+24=0
“3(x—8)(3x+ 1) =0

x:8,—%
2x2 —2x—40=0

2x+4)(x—5)=0
x=—4,5

12.

13.

14.

15.

16.

17.

18.

19.

20.

12x% +12x — 45 =0
3(2x+5)(2x—3) =0

1 1
X = *25 15

—20x> —115x— 75 =0
—5(4x+3)(x+5)=0

. 3
x=—3 -5

20x> 4+ 25x—-30=0
54x—-3)(x+2)=0

x=3,-2

EN[3Y)

16x* —44x +28 =10
4(4x—7)(x—1)=0
x=131

8x? —4x—40=0
4(x+2)(2x—5)=0
Xx=—2,23

—12x* + 63x+ 147 =0
3(4x+7)(x—7) =0
X = —143}77

10x* —5x—105=0
52x—7)(x+3)=0
x=33,-3

—10x*> +78x — 108 =0
—2(5x—9)(x—6)=0
x=1%6

8x* +8x—126 =0
2(2x4+9)(2x—7)=0
X = —4%,3%

—3x>—-33x—-84=0
—3(x+4)(x+7)=0
x=—4 -7
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Solving Quadratic Equations (C)

Name: Date:

Solve each equation for x.

6x> —15x — 36 =0 —10x*> —44x —42 =0
25x> —35x — 120 =0 —5x> —5x+10=0
—8x*+30x+8=0 —8x*+26x—6=0
—12x* —40x—32=0 20x> —85x+90 =0
—20x* —100x — 105 =0 —12x* —104x —192 =0
—10x* —15x + 135 =0 —6x> —69x — 135 =10
8x* +66x—54=0 —12x* - 8x+84 =0
—4x* 4+ 30x+54 =0 —6x24+33x—15=0
6x> —21x—90 =0 —6x* —38x+144=0
15x* +85x+ 120 =0 —8x*+162=0
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Solving Quadratic Equations (C) Answers

Name:

10.

6x* —15x—36=0
3(x — 4)(2x +3) = 0
x:4,—1%

25x* —35x—120=0
5(5x+8)(x—3)=0
x:—lg,S

—8x*+30x+8=0
2x—4)(4x+1)=0

x:4,—%
—12x* —40x—32=0

—4(x+2)(3x+4)=0
x=-2,-13

—20x?> — 100x — 105 =0

—52x+7)(2x+3)=0
x=-33,-13

—10x*> — 15x+ 135 =0
_5(x—3)(2x+9) = 0
x=3,—43

8x% + 66x — 54 =0
2x+9)(4x—-3)=0
x=-93

—4x* +30x+54 =0
—2(2x+3)(x—9)=0
X= —1%,9

6x2 —21x—90=0
3x—6)(2x+5)=0
X= 6,—2%

15x* +85x +120 =0
5x+3)(3x+8)=0
X= —3,—2%

Date:

Solve each equation for x.

11. —10x*> —44x —42 =10
—2(5x+7)(x+3)=0
X = —1%,—3

12 —5x* - 5x+10=0
—5x—1)(x+2)=0
x=1,-2

13. —8x* +26x—6=0
—2(x—3)(4x—-1)=0

_ a1
x=3,5

14. 20x* —85x+90 =0
5x—2)(4x—9) =0
x=2,27

15 —12x* — 104x — 192 =0
—4(3x+8)(x+6)=0
X= —2%,—6

16. —6x> —69x—135=0
—3(x+9)(2x+5)=0
x=-9,-27

17. —12x* —8x+84 =10
—4(x+3)3x—7)=0
x=-3,2%

18, —6x*+33x—15=0
—3(x—=5)(2x—1)=0

_c1
x=5,5

19. —6x2 —38x+144=0
—2(x+9)(3x—8) =0
x=-9, 2%

20, —8x*4+162=0
—2(2x+9)(2x—9)=0
x=—41 41
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Solving Quadratic Equations (D)

Name: Date:

Solve each equation for x.

6x*> —45x — 81 =10 8x* +84x+ 160 =0
—15x% + 50x + 240 =0 —10x* — 62x — 60 =0
10x* —92x+ 18 =0 —12x* + 76x + 288 =0
—25x% — 210x — 245 =0 —25x* +120x+25=0
—20x*> —72x—36 =10 —8x* —108x — 324 =0
—8x* —44x —20=10 —12x* —15x -3 =10
—9x%> +69x — 42 =0 25x* +85x+70 =0
—20x% —176x — 252 =0 16x* + 164x + 180 = 0
—16x2 —16x+12=0 —10x2 4+ 2x+36 =0
—3x*+48x—-192 =0 —20x* + 156x — 216 = 0
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Solving Quadratic Equations (D) Answers

Name: Date:

Solve each equation for x.

1. 6x2 —45x—81=0 11. 8x* +84x+ 160 =0
3x—9)(2x+3)=0 4(x+8)(2x+5)=0
X:9771% X:*8,*2%

2. —15x* +50x + 240 =0 12. —10x* — 62x — 60 =0
—5(3x+8)(x—6) =0 —2(x+5)(5x+6) =0
x:—2§,6 x:—S,—1%

3. 10x2 —92x+18=0 13, —12x* +76x+ 288 =0
2x—9)(5x—1) =0 —4(x—9)(3x+8)=0
x=9,1 x=9,-2%

4. —25x* —210x — 245 =0 14, —25x* +120x +25 =10
—5x+7)(5x+7)=0 —5(x—-5)5x+1)=0
x:—7,—1% X:S,—%

5. —20x* -72x—36=0 15. —8x* —108x — 324 =0
—4(5x+3)(x+3)=0 —4(2x+9)(x+9)=0

6. —8x* —44x—20=10 16. —12x> —15x -3 =0
—4(2x+1)(x+5)=0 —3(4x+1)(x+1)=0
x=-1,-5 x=—3—1

7. —9%* +69x — 42 =0 17. 25x*> +85x+70 =0
—-3(3x—2)(x—7)=0 5(5x+7)(x+2)=0

8. —20x* —176x — 252 =0 18. 16x> + 164x + 180 = 0
—4(5x+9)(x+7)=0 4(4x+5)(x+9)=0
x=—1% -7 x=—11 -9

9. —16x*> —16x+12 =0 19. —10x*> +2x+36 =0
—4(2x—1)(2x+3)=0 —2(5x+9)(x—2)=0
x:%,—l% x:—1§,2

10. —3x* +48x—192=10 20. —20x* 4+ 156x — 216 =0
—3(x—8)(x—8)=-3(x—8)2=0 —4(5x—9)(x—6) =0
X:8 X = 1%,6
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Solving Quadratic Equations (E)

Name: Date:

Solve each equation for x.

—4x*> 4+ 18x+70=0 —25x%> +230x—45=10
—15x* —72x - 48 =0 4x* +20x+24=0
—20x?> —160x —315=0 —10x*> +65x —90 =0
20x> —64x+12=0 12x*> + 44x — 16 =0
16x*> —100x + 144 =0 16x> —128x+ 252 =0
—4x*> — 64x — 256 =0 4> —6x—28=0

6x*> +21x—27 =10 —4x* +8x+12=0
12x*> —52x+48 =10 2x* +6x—108=0
4x* +26x—90 =10 —2x*+12x+32=0
6x> +20x+6=0 —6x*> —57x — 27 =10
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Solving Quadratic Equations (E) Answers

Name:

10.

Date:

Solve each equation for x.

—4x*> +18x+70=0
—2(2x+5)(x—7)=0
X = —2%,7

—15x* —72x — 48 =0
—3(5x+4)(x+4)=0
X= —%, —4

—20x* — 160x — 315 =10
—5(2x+7)(2x+9)=0
x=-31-41

20x* —64x+12=0
4(x—3)(5x—1)=0
x:3,%

16x* — 100x + 144 =0
4(4x—9)(x—4)=0
x=234

—4x* — 64x — 256 =0

—4(x+8)(x+8)=—4(x+8)2=0

x=—8

6x>+21x—27 =0
3(x — 1)(2x+9) = 0
x=1,-43

12x* —52x +48 =0
4x—3)(3x—4)=0
x=3,1%

4x* +26x—90=0
2(2x — 5)(x +9) = 0
X:Z%,—‘)

6x* +20x+6=0
2(x+3)(3x+1)=0

—_3 _1
Xx=—3,—3

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

—25x2 4+ 230x — 45 =0
—5(x—-9)(5x—1)=0

_g1
x=9, 3

4x* +20x+24 =10
4(x+2)(x+3)=0
x=-2,-3

—10x* 4+ 65x—90 =0
—5(2x—-9)(x—2)=0
x=4172

12x> +44x—16 =0
4(x+4)3x—1)=0
X= —4,%

16x* —128x+ 252 =0
4(2x—7)(2x—-9)=0
X=31,41

4x* —6x—28=0
2(2x — 7)(x +2) = 0
x=33,-2

—4x* +8x+12=0
_4(x—3)(x+1)=0
x=3,-1

2x* 4+ 6x—108=10
2x—6)(x+9)=0
x=6,—9

—-2x*+12x+32=0
—2(x+2)(x—8)=0
x=—-2,8

—6x> —57x—27=0
—3(x+9)(2x+1)=0

—_9g _1
x=-9,—3
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Solving Quadratic Equations (F)

Name: Date:

Solve each equation for x.

12x*> +12x — 45 =10 —8x* —30x+108=0
6x* +69x+135=0 —8x* —20x+168=0
10x? +28x— 48 =0 10x? +15x — 135=10
20x> —80x+75=0 —8x>*+8x+30=0
20x*> +76x+72=0 —12x* +27x+84 =0
15x* + 69x — 126 = 0 —25x*> +30x+40 =0
9x*+39x+36=0 10x> +74x+84 =0
8x> —54x+70 =10 —25x* — 55x + 60 = 0
—4x? 4+ 42x - 54 =0 —4x? +324=0
2x2—-2=0 15x2 +70x+40 =0
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Solving Quadratic Equations (F) Answers

Name:

10.

12x2 +12x — 45 =0
3(2x —3)(2x+5) =0

— 11 _»1l
x=13,-25

6x* +69x+ 135 =0
3(2x+5)(x+9)=0
x=-21-9

10x* +28x—48=0
2(x+4)(5x — 6) = 0
x=—4,1%

20x* — 80x+75 =0
5(2x —3)(2x—5) =0
x=1121

20x> +76x+72 =0
4(5x+9)(x+2) =0
x=—1%, -2

15x% + 69x — 126 = 0
3(5x—7)(x+6)=0
x=1% -6

9x> 4+ 39x+36=0
3(x 4+ 3)(3x + 4) = 0
x=-3,-13

8x? —54x+70=10
2x—5)(4x—-7)=0
x:S,lg

—4x> +42x — 54 =0
—2(2x—3)(x—9)=0
X = 1%,9

2x2—-2=0
2k+1)(x—1)=0
x=-1,1

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

—8x* —30x+ 108 =0
—2(x+6)(4x—9)=0
X = —6, 2%

—8x* —20x+ 168 =0
—4(2x—7)(x+6)=0
x=35,—6

10x* + 15x — 135 =0
5x—3)(2x+9)=0
x=3,—41

—8x*+8x+30=0
—2(2x+3)(2x—5) =0
x=-1121

—12x* +27x+84 =0
—3(x—4)(4x+7)=0
x=4,-12

—25x24+30x+40=0
5(5x+4)(x—2) =0

10x> +74x+84 =0
2(x+ 6)(5x +7) = 0
x=—6,—-1%

—25x> —55x+60 =0
—5(x+3)(5x—4)=0

x=-3,1%

—4x* +324 =0
—4(x—9)(x+9)=0
x=9,-9

15x% +70x+40 =0
5x+4)(3x+2)=0

— _4 _2
x=—4,—3
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Solving Quadratic Equations (G)

Name: Date:

Solve each equation for x.

12x> —4x—16 =0 —4x* +36x—32=0
—16x%* +96x — 108 = 0 6x* +45x+75=0
—6x*+3x+45=0 3x2 —6x—45=0
10x> —94x+36 =0 —20x*> —76x+16 =0
3x2+15x—72=0 —8x*+24x—-10=0
8x* 4+ 86x+ 126 =0 —10x* 4+ 55x+ 315 =0
15x> +40x — 80 =0 —16x* —20x+84 =0
9x* +57x+84=0 16x> —128x+ 252 =0
—15x*> —50x+40 =0 5x% 4 85x + 360 = 0
—4x? —42x —98 =0 10x* — 75x — 40 =0
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Solving Quadratic Equations (G) Answers

Name:

10.

12x* —4x — 16 =0
4(3x—4)(x+1)=0
x:l%’—l

—16x* +96x — 108 =0
—4(2x—-3)(2x—9) =0
x=1341

—6x* +3x+45=0
—3(x—3)(2x+5)=0
x=3,-21

10x* —94x +36 =0
2(x—9)(5x —2) =
X = 9,%

3x* +15x — 72 =10
3x+8)(x—3)=0
x=-8,3

8x?+86x+126=0
2(4x + 7)(x +9) = 0
x=-13-9

15x% +40x — 80 = 0
5(3x — 4)(x + 4) = 0
x=13,—4

9x% +57x+84 =0
33x+7)(x+4)=0
x=-21 -4

—15x* - 50x+40=0
5(3x— 2)(x + 4) = 0

-2 _
x=%,—4

—4x* —42x—-98 =0
—2(x+7)(2x+7)=0
x=-7,-31

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

—4x* +36x—32=10
—4(x—8)(x—1)=0
x=28,1

6x* +45x +75 =0
3(2x+5)(x+5)=0
X= —2%, -5

3x* —6x—45=0
3x—5)(x+3)=0
x=5-3

—20x* —76x+ 16 =0
—4(5x—1)(x+4)=0

1
ng’_4

—8x*+24x—-10=0
—2(2x—1)(2x—5)=0

_ 191
xfz,Z2

—10x%> +55x+315=0
5(x—9)(2x+7) =0
x=09, —3%

—16x* —20x+84 =0
—4(x+3)(4x—7)=0
x=-3,13

16x* — 128x+ 252 =10
42x—7)(2x—9)=0
x=3%v4%

5x* +85x + 360 =0
5x+9)(x+8)=0
x=-9 -8

10x2 —75x — 40 =0
5x—8)(2x+1)=0
1

X:8,—§
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Solving Quadratic Equations (H)

Name: Date:

Solve each equation for x.

10x? +35x+25=0 20x> —135x+90 =0
20x* +68x — 160 =0 —4x* +56x — 196 = 0
20x> —15x — 50 =0 6x> +81x+243 =0
—20x* +120x—135=0 —3x*+12x+63=0
20x> +76x — 120 =0 12x> —100x+32 =0
3x* —30x+63=0 —16x* +64x—28=10
—6x*+38x+80=0 8x> —62x — 16 =0
12x> — 99x+ 162 =0 12x*> +21x— 108 =0
2x* 4+ 26x+80=0 16x% — 148x + 252 =0
6x* 4+ 57x+27 =10 20x? +168x — 108 = 0
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Solving Quadratic Equations (H) Answers

Name:

10.

10x* +35x+25=0
5(2x+5)(x+1)=0
x:—Z%,—l

20x% 4+ 68x — 160 = 0
4(5x—8)(x+5)=0
X = 1%,—5

20x* —15x - 50 =0
5(4x+5)(x—2)=0
x=-112

—20x? +120x — 135 =0
—5(2x—3)(2x—-9) =0
x=1141

20x* +76x — 120 =0
4(x+5)(5x—6) =0
x = —5, 1%

3x* —30x+63=0
3x-3)(x—7)=0
x=3,7

—6x> +38x+80=0
“2(x—8)(3x+5) =0
x=28,-1%2

12x* —99x + 162 =0
3(4x —9)(x—6) =0
x=2%,6

2x* +26x+80=0
2x+5)(x+8)=0
x=-5-8

6x> +57x+27=0
3(x+9)(2x+1)=0

—9g _1

X = >

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

20x* — 135x+90 =0
5x—6)(4x—3)=0

-6 3
x=6,7

—4x* +56x — 196 =0
—4(x—7)(x—-7)=—-4x—-7) =0
x=7

6x> +81x+243 =0
3(2x+9)(x+9)=0
x=—-41-9

—3x> +12x+63 =0
-3x—7)x+3)=0
x=7,-3

12x> —100x+32 =0
4(x—8)(3x—1)=0

—gl
x=38,3

—16x* + 64x — 28 =0
—4(2x—1)(2x—7)=0
X= %, 3%

8x* — 62x — 16 = 0
2(x— 8)(4x+1) = 0
1

X:8./—Z

12x* +21x— 108 =0
3x+4)(4x—-9)=0
X = —4, 2%

16x* — 148x + 252 =0
4(4x—-9)(x—7)=0
X = 2%,7

20x* + 168x — 108 = 0
4(x+9)(5x—3) =0
X = —9,%

Math-Drills.com




Solving Quadratic Equations (I)

Name: Date:

Solve each equation for x.

25x* +60x+35=0 —20x*> —145x — 35 =10
—15x* —130x — 175 =0 —20x*> +65x —15=0
—15x> —84x—45=0 16x> —4x—72=0
8x* +12x—216 =0 15x> — 55x+50 =0
20x* —112x — 196 =0 12x*> +56x—96 = 0
—8x2+8x+30=0 —6x*> —39x — 60 =0
9x* +48x - 36 =0 16x> +32x—20=0
—10x*> —72x—72=0 20x*> + 160x+315=0
12x*> +12x — 45 =10 —8x*+38x+126 =0
16x*> — 132x — 108 =0 15x? +85x+ 100 =0
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Solving Quadratic Equations (I) Answers

Name:

10.

25x* +60x+35=0
5(5x+7)(x+1)=0
x:—lé,—l

—15x% - 130x - 175 =0
—5(3x+5)(x+7)=0
X = —1%,—7

—15x% —84x — 45 =0
—3(5x+3)(x+5)=0
X= —%, -5

8x* +12x— 216 =0
4(x+6)(2x—9) =10
X=—6,41

20x> —112x — 196 =0
4(5x+7)(x—7) =0
x=-1%7

—8x*+8x+30=0
—2(2x+3)(2x—5)=0
x=-11 21

9x*> +48x—36 =0
3x+6)(3x—2)=0
X = —6,%

—10x2 —72x - 72 =0
—2(5x+6)(x+6) =0
x=-11,-6

12x2 4+ 12x—45=0
3(2x —3)(2x+5) =0

— 11 _»1
x=13,-25

16x*> — 132x — 108 =0
4(4x+3)(x—9)=0

39

X = 2

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

—20x*> —145x — 35 =10
—5(x+7)(4x+1)=0

—_7 _1
x=-7,—5

—20x*> +65x —15=0
—5(4x—-1)(x—3)=0

-1
x=4,3

16x* —4x—72 =10
4(x+2)(4x—9) =0
Xx=-2,21

15x* — 55x+ 50 = 0
53x—5)(x—2)=0
x=1%2

12x* +56x — 96 = 0
4(x+6)(3x—4)=0
x=-6,13

—6x>—39%x—60=0
_3(2x+5)(x+4) = 0
x=—-21—4

16x* +32x—20=10
4(2x+5)(2x—1)=0

—_9211
X=-23,3

20x% +160x + 315 =0
52x+7)(2x+9)=0

1 1
X = —32 —45

—8x? +38x+126=0
—2(4x+9)(x—7)=0
X = —2;1}, 7

15x* + 85x + 100 = 0
5(3x+5)(x+4)=0
X = —1%,—4
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Solving Quadratic Equations (])

Name: Date:

Solve each equation for x.

6x*> —45x +84 =0 25x%> +90x +80 =0
8x* +42x—-98=10 —10x* —15x—-5=10
—8x* —4x+144 =0 12x> —52x+16 =0
—6x>+33x—27=0 10x> —35x+30 =10
20x2 —4x—24=0 20x* +24x— 108 =0
20x> +20x—15=0 12x*> —12x — 189 =0
15x> +99x+ 120 =0 20x> —55x+30=0
20x*> +95x — 150 = 0 15x? + 65x — 150 = 0
10x* - 5x—-5=0 20x2 +5x—25=0
20x> —85x+90 =0 8x?+66x+16=0
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Solving Quadratic Equations (J) Answers

Name:

10.

6x*> —45x +84 =0
32x—7)(x—4)=0
XZB%,‘I-

8x* +42x—-98 =10
2x+7)(4x—-7)=0
x=-7,13

—8x% —4x+ 144 =0
—4(x—4)(2x+9) =0
Xx=4,-41

—6x*+33x—27=0
—-3(2x—9)(x—1)=0
x=411

20x> —4x—24=0
4(x+1)(5x—6) =0
x=-1,11

20x* +20x—15=0
5(2x — 1)(2x+3) = 0

-1 _q1
x=3,-13

15x%* +99x + 120 =0
3(x+5)(5x+8) =0
x=-5-13

20x* + 95x — 150 = 0
5(4x—5)(x+6)=0
X= 1%?—6

10x2 —5x—5=0
5(x—1)(2x+1) = 0
1

X:1775

20x* — 85x+90 =0
5(x—2)(4x—9)=0
x=2,23

Date:

Solve each equation for x.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

25x* +90x+80=0
5(x+2)(5x+8) =0
X= -2, —1%

—10x> —15x—-5=0
—5(2x+1)(x+1)=0

. 1
x=-1 -1

12x> —52x+16 =0
43x—1)(x—4)=0

1
304

10x* — 35x+30 =10
52x—3)(x—2)=0
x=112

X =

20x* 4+ 24x — 108 = 0
4(x+3)(5x—9) =0
x=-3,1%

12x* —12x—189 =10
3(2x + 7)(2x— 9) = 0
x=-3141

20x* —55x+30=0
5x—2)(4x—3)=0
x=2,3

15x% + 65x — 150 =0
5(3x — 5)(x + 6) = 0
x=1% -6

20x* +5x—25=0
54x+5)(x—1)=0
x:—l;l},l

8x?+66x+16=0
2x+8)(4x+1)=0

1

x=-8—5
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